‘upiw wd| | wdp| wdg wdg wdy; wdg wdg wdy wdg wdz wd| uoou wD|| WDQ| WDE WDE WD/ WDYG WOG WDy WDE wodZ wo| ‘upiw wd]| wdy| wdg wdg
00:%¥0 00:¢£0 0020 00:1000:00 00:£2 00:22 00:1 2 00:0Z 00:61 00:81 00:£1 00:91 00:Gl 00:¥1 00:¢ L 00:Z1 00:1 1 00:0l 00:60 00:80 00:£0 00:90 00:G0 00:¥0 00:£0 00:20 00:10 00:00

0v:20 i90:0¢ Q0:80 qv:<0
8/ 1 A0Q
L20 <9a Sva £2a Az/go/obgg
GGl 0S:Lp og:¢p
Q+:¢0 aLctL Q0:80 qt:¢0
LLL AOQ
S¥( L2a Gaa Sva L2q 92/90/0 ngg
og:ep 00:G| 0S:Lp Seiep
q+:¢0 qv:61l q4¢:20 J0:20
9/ A0Q
SYQ IRAQ <Soa Sva Lza $z2/90/0 Leg
Seiep GC16) GZiLp 0S:Lp ’
qo:20 q0°G 1l Qc:Lp 0G:¢0
L S/l A0Q
5344 L20a ¥Sa Lva 20 VZ/QO/O h?ﬁ
0s:1Lp GGl 0c:4¥:9Q
0G:¢0 qz:GL I90:80 QL:10
vLL AOQ
Ix4¢ ¥Ga 5344 Jx4¢ ‘ZZ/90/0LOZ
Pam
OL:G|y GGLP 00:1p
qL:L0 Qv:G1L I90:80 qc:c0o
cL1 AOd
Sva L2a ¥Sa Sva L2a ZZ/QO/O Le(%i
00:1Lp 0g:g|\| SGLD 0z:zp
¢ :20 q1:91 Q0:80 4S:¢0
2Ll A0Q
Sva Lca G9a Sva L2Q ‘Z/go/oﬁgﬁ
0cz:zp S0:9|\| 0S:Lp Sviep

(1SQ) 0102 GZ oom



